1.0

W and y

0.9
T T 1 Tt I"I'_l=_,

— 0.014(19) y = 0.969(79) => 0.969(79)
rm842 med(mad) AC

SB5F
i ;|;I;;;;;|IIII|II]I ItI;I|.I;II

L ' -_— T ' ' —_r —_—

MMMI ..é n . Y
.JdluLW ull M“mﬂ L i, WMHIIWMMH.IMJmm i | |

4t
HI| |"l'1[||mnn”| Hlu| ||| .|1lrl| ||”F RERL “' Nt il vt M 1

e I||]| rlll“rllnpp m.
I "”HIH‘ “I"“ﬂ'l ”'\'rpqnn ]|'||||( '"‘r

—_—

w “ﬂ f WW *“ mwﬂ“u M**Wa A e A R i 'ﬁwmwwm e U
yl# wwwwwww M"WNWWM ALy WW»& Btk *WM*MMM Mm*at wpm. i

:| : I: | | | | | | | l | | | [I'I'| I'I'I
1950 O 2000 5000

3<—06.00
N (R) z = 1.60066



